
Installation instructions for BPE4 Brake Pedal Extension for 2020-Up Spyder RT 

 

It is highly recommended that you use a thread lock compound such as Loctite brand on all threads to 

keep them from vibrating loose. Please read these instructions entirely before starting. 

 

This list shows the components of the BPE4 kit. Parts will be referred to by the names & numbers 

shown here. If you are missing anything please email RefinedCycle@gmail.com. 

 

 
 

 
 

 

BPE4 Components…. 

1) BPE4 
2) Spacers (qty. 2) 
3) M6-1.0x25 SHCS (qty. 4) 
4) M6 Nuts (qty. 2) 
5) M6 Washers (qty. 6) 

 
 
 
Remove these two bolts from your stock brake 
pad. 
 
 
 
 
 
 
 
 
 
 
 
 
 
Place Washers on all of the M6 Bolts. 
 
 
 
 
 
 
 
 
 
 
 
 
Place the Spacers on the back of the stock foot 
pad. 
 
 

mailto:RefinedCycle@gmail.com


 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
Attach the pad to the BPE4. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Place the other two bolts into the lower holes of 
the BPE4. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Place onto the stock brake pedal and secure with 
the other M6 Washers and M6 Nuts. 

 


